

NOTES ON THE RODRIGUES FORMULAS FOR TWO KINDS OF THE CHEBYSHEV POLYNOMIALS

Feng Qi, Da-Wei Niu, Dongkyu Lim

▶ To cite this version:

Feng Qi, Da-Wei Niu, Dongkyu Lim. NOTES ON THE RODRIGUES FORMULAS FOR TWO KINDS OF THE CHEBYSHEV POLYNOMIALS: Rodrigues formulas for Chebyshev polynomials. 2018. hal-01705040v1

HAL Id: hal-01705040 https://hal.science/hal-01705040v1

Preprint submitted on 9 Feb 2018 (v1), last revised 19 Jan 2020 (v2)

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers. L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

NOTES ON THE RODRIGUES FORMULAS FOR TWO KINDS OF THE CHEBYSHEV POLYNOMIALS

FENG QI, DA-WEI NIU, AND DONGKYU LIM

ABSTRACT. In the paper, the authors derive, from the Rodrigues formulas for the Chebyshev polynomials of the first and second kinds and by virtue of the Faà di Bruno formula and two identities for the Bell polynomials of the second kind, two explicit formulas for the Chebyshev polynomials of the first and second kinds, find, by virtue of an inversion formula for combinatorial coefficients, two inversion formulas for explicit formulas of the Chebyshev polynomials of the first and second kinds, and collect variants of the Rodrigues formulas for the Chebyshev polynomials of the first and second kinds.

Contents

1.	Introduction and main results	-
2.	Lemmas	2
3.	Proofs of main results	
4.	Variants of Rodrigues formulas for Chebyshev polynomials	Ę
References		6

1. Introduction and main results

It is well known [2, 3, 4] that the Chebyshev polynomials of the first and second kinds T_n and $U_n(x)$ are very important in mathematical sciences and that, in the study of ordinary differential equations [2, pp. xxxv and 1004], they arise as solutions to the Chebyshev differential equations

$$(1-x^2)y'' - xy' + n^2y = 0$$
 and $(1-x^2)y'' - 3xy' + n(n+2)y = 0$

for the Chebyshev polynomials of the first and second kinds T_n and U_n respectively. In [3, Eqs. (4.30) and (4.31)], the Rodrigues formulas for the Chebyshev polynomials of the first and second kinds T_n and U_n read that

$$T_n(x) = (-1)^n \frac{2^n n!}{(2n)!} (1 - x^2)^{1/2} \frac{\mathrm{d}^n}{\mathrm{d} x^n} [(1 - x^2)^{n-1/2}]$$
 (1)

and

$$U_n(x) = (-1)^n \frac{2^n (n+1)!}{(2n+1)!} (1-x^2)^{-1/2} \frac{\mathrm{d}^n}{\mathrm{d} x^n} [(1-x^2)^{n+1/2}]. \tag{2}$$

²⁰¹⁰ Mathematics Subject Classification. Primary 11B38; Secondary 11C08, 26C05, 33C45, 33C47, 33D45

Key words and phrases. explicit formula; Rodrigues formula; Chebyshev polynomial of the first kind; Chebyshev polynomial of the second kind; variant; inversion formula for combinatorial coefficients; Faà di Bruno formula; Bell polynomial of the second kind.

This paper was typeset using $\mathcal{A}_{\mathcal{M}}S$ -IAT_EX.

In [10, pp. 432–433],

$$T_n(x) = \frac{n}{2} \sum_{m=0}^{\lfloor n/2 \rfloor} (-1)^m \frac{(n-m-1)!}{m!(n-2m)!} (2x)^{n-2m}$$
 (3)

and

$$U_n(x) = \sum_{m=0}^{\lfloor n/2 \rfloor} (-1)^m \frac{(n-m)!}{m!(n-2m)!} (2x)^{n-2m}, \tag{4}$$

where $n \in \mathbb{N}$ and $\lfloor t \rfloor$ denotes the floor function whose value equals the largest integer less than or equal to t.

We notice that the formulas (3) and (4) can be rearranged as

$$T_n(x) = \frac{n}{2} \sum_{m=0}^{\lfloor n/2 \rfloor} (-1)^m \binom{n-m}{m} \frac{(2x)^{n-2m}}{n-m}$$
 (5)

and

$$U_n(x) = \sum_{m=0}^{\lfloor n/2 \rfloor} (-1)^m \binom{n-m}{m} (2x)^{n-2m}.$$
 (6)

In this paper, starting out from (1) and (2), by virtue of the Faà di Bruno formula, two identities for the Bell polynomials of the second kind, and an inversion theorem of combinatorial numbers, we will derive two explicit formulas for the Chebyshev polynomials T_n and U_n below.

Theorem 1. For $n \geq 0$, the Chebyshev polynomials T_n and U_n can be explicitly computed by

$$T_n(x) = x^n \sum_{\ell=0}^{\lfloor n/2 \rfloor} {n \choose 2\ell} \left(1 - \frac{1}{x^2}\right)^{\ell} \tag{7}$$

and

$$U_n(x) = x^n \sum_{\ell=0}^{\lfloor n/2 \rfloor} {n+1 \choose 2\ell+1} \left(1 - \frac{1}{x^2}\right)^{\ell}.$$
 (8)

Employing an inversion theorem for combinatorial numbers in [9, Theorem 4.3], we will find inversion formulas of the formulas (5) and (6).

Theorem 2. For $n \in \mathbb{N}$, we have

$$\sum_{k=1}^{n} {2n-k-1 \choose n-1} (2x)^k T_k(x) = 2^{2n-1} x^{2n}$$
(9)

and

$$\sum_{k=1}^{n} k \binom{2n-k-1}{n-1} (2x)^k U_k(x) = n(2x)^{2n}.$$
 (10)

In the last section, we will collect variants of the Rodrigues formulas for the Chebyshev polynomials of the first and second kinds T_n and U_n .

2. Lemmas

In this paper, we need the following lemmas.

Lemma 1 ([1, pp. 134 and 139]). For $n \geq k \geq 0$, the Bell polynomials of the second kind, or say, partial Bell polynomials, denoted by $B_{n,k}(x_1, x_2, \ldots, x_{n-k+1})$, are defined by

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{\substack{1 \le i \le n, \ell_i \in \{0\} \cup \mathbb{N} \\ \sum_{i=1}^n i \ell_i = n \\ \sum_{i=1}^n \ell_i = k}} \frac{n!}{\prod_{i=1}^{n-k+1} \ell_i!} \prod_{i=1}^{n-k+1} \left(\frac{x_i}{i!}\right)^{\ell_i}.$$

Faà di Bruno's formula can be described in terms of the Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ by

$$\frac{\mathrm{d}^n}{\mathrm{d}\,t^n}f\circ h(t) = \sum_{k=0}^n f^{(k)}(h(t))\,\mathrm{B}_{n,k}\big(h'(t),h''(t),\dots,h^{(n-k+1)}(t)\big). \tag{11}$$

Lemma 2 ([1, p. 135]). For $n \ge k \ge 0$, we have

$$B_{n,k}(abx_1, ab^2x_2, \dots, ab^{n-k+1}x_{n-k+1}) = a^kb^n B_{n,k}(x_1, x_2, \dots, x_{n-k+1}),$$
 (12) where a and b are any complex numbers.

Lemma 3 ([6, Theorem 4.1]). For $n \ge k \ge 0$, the Bell polynomials of the second kind $B_{n,k}$ satisfy

$$B_{n,k}(x,1,0,\ldots,0) = \frac{1}{2^{n-k}} \frac{n!}{k!} \binom{k}{n-k} x^{2k-n},$$
(13)

where $\binom{0}{0} = 1$ and $\binom{p}{q} = 0$ for $q > p \ge 0$.

Lemma 4 ([9, Theorem 4.3]). For $k \ge 1$, let s_k and S_k be two sequences independent of n such that $n \ge k \ge 1$. Then

$$\frac{s_n}{n!} = \sum_{k=1}^n (-1)^k \binom{k}{n-k} S_k \quad \text{if and only if} \quad nS_n = \sum_{k=1}^n \frac{(-1)^k}{(k-1)!} \binom{2n-k-1}{n-1} s_k.$$

3. Proofs of main results

Now we begin to prove our main results stated in the first section.

Proof of Theorem 1. By virtue of the formulas (11), (12), and (13), we have

$$\frac{\mathrm{d}^{n}}{\mathrm{d} x^{n}} \left[\left(1 - x^{2} \right)^{n-1/2} \right] = \sum_{k=1}^{n} \frac{\mathrm{d}^{k} u^{n-1/2}}{\mathrm{d} u^{k}} \, \mathbf{B}_{n,k}(-2x, -2, 0 \dots, 0) \\
= \sum_{k=1}^{n} \prod_{\ell=0}^{k-1} \left(n - \ell - \frac{1}{2} \right) u^{n-k-1/2} (-2)^{k} \, \mathbf{B}_{n,k}(x, 1, 0 \dots, 0) \\
= \sum_{k=1}^{n} \frac{1}{2^{k}} \prod_{\ell=0}^{k-1} (2n - 2\ell - 1) \left(1 - x^{2} \right)^{n-k-1/2} (-2)^{k} \frac{1}{2^{n-k}} \frac{n!}{k!} \binom{k}{n-k} x^{2k-n} \\
= \frac{n!}{(2x)^{n}} \left(1 - x^{2} \right)^{n-1/2} \sum_{k=1}^{n} (-1)^{k} \binom{k}{n-k} \frac{(2n-1)!!}{[2(n-k)-1]!!} \frac{2^{k}}{k!} \left(\frac{x^{2}}{1-x^{2}} \right)^{k} \\
= \frac{n!(2n-1)!!}{(2x)^{n}} \left(1 - x^{2} \right)^{n-1/2} \sum_{k=1}^{n} (-1)^{k} \binom{k}{n-k} \frac{2^{k}}{k![2(n-k)-1]!!} \left(\frac{x^{2}}{1-x^{2}} \right)^{k},$$

where $n \in \mathbb{N}$, $u = u(x) = 1 - x^2$, and the double factorial of negative odd integers -2n - 1 is defined by

$$(-2n-1)!! = \frac{(-1)^n}{(2n-1)!!} = (-1)^n \frac{2^n n!}{(2n)!}, \quad n \ge 0.$$

Substituting the above established equality into (1) and simplifying lead to

$$T_n(x) = \sum_{k=1}^n \frac{(-1)^{n-k}}{4^{n-k}} \binom{k}{n-k} \binom{n}{k} \frac{[2(n-k)]!!}{[2(n-k)-1]!!} x^{2k-n} (1-x^2)^{n-k}$$

which can be rearranged, by replacing n-k by ℓ , as

$$T_n(x) = x^n \sum_{\ell=0}^{n-1} \frac{(-1)^{\ell}}{4^{\ell}} \binom{n}{n-\ell} \binom{n-\ell}{\ell} \frac{(2\ell)!!}{(2\ell-1)!!} \left(\frac{1}{x^2} - 1\right)^{\ell}.$$

Since

$$\frac{1}{4^\ell}\binom{n}{n-\ell}\binom{n-\ell}{\ell}\frac{(2\ell)!!}{(2\ell-1)!!}=\binom{n}{2\ell},$$

we arrives at the identity (7).

Repeating the above process, we can obtain

$$\frac{\mathrm{d}^{n}}{\mathrm{d} x^{n}} \left[\left(1 - x^{2} \right)^{n+1/2} \right] = \sum_{k=1}^{n} \frac{\mathrm{d}^{k} u^{n+1/2}}{\mathrm{d} u^{k}} \, \mathbf{B}_{n,k}(-2x, -2, 0 \dots, 0) \\
= \sum_{k=1}^{n} \prod_{\ell=0}^{k-1} \left(n - \ell + \frac{1}{2} \right) u^{n-k+1/2} (-2)^{k} \, \mathbf{B}_{n,k}(x, 1, 0 \dots, 0) \\
= \sum_{k=1}^{n} \frac{1}{2^{k}} \prod_{\ell=0}^{k-1} (2n - 2\ell + 1) \left(1 - x^{2} \right)^{n-k+1/2} (-2)^{k} \frac{1}{2^{n-k}} \frac{n!}{k!} \binom{k}{n-k} x^{2k-n} \\
= \frac{n!}{(2x)^{n}} \left(1 - x^{2} \right)^{n+1/2} \sum_{k=1}^{n} (-1)^{k} \binom{k}{n-k} \frac{(2n+1)!!}{[2(n-k)+1]!!} \frac{2^{k}}{k!} \left(\frac{x^{2}}{1-x^{2}} \right)^{k} \\
= \frac{n!(2n+1)!!}{(2x)^{n}} \left(1 - x^{2} \right)^{n+1/2} \sum_{k=1}^{n} (-1)^{k} \binom{k}{n-k} \frac{2^{k}}{k![2(n-k)+1]!!} \left(\frac{x^{2}}{1-x^{2}} \right)^{k}.$$

Substituting this into (2) and simplifying lead to

$$U_n(x) = \sum_{k=1}^n \frac{(-1)^{n-k}}{2^{2n-2k+1}} \binom{k}{n-k} \binom{n+1}{k} \frac{[2(n-k+1)]!!}{[2(n-k)+1]!!} x^{2k-n} (1-x^2)^{n-k}.$$

Replacing n-k by ℓ reveals that

$$U_n(x) = \sum_{\ell=0}^{n-1} \frac{(-1)^{\ell}}{2^{2\ell+1}} \binom{n+1}{n-\ell} \binom{n-\ell}{\ell} \frac{[2(\ell+1)]!!}{(2\ell+1)!!} x^{n-2\ell} (1-x^2)^{\ell}.$$

Due to

$$\frac{1}{2^{2\ell+1}} \binom{n+1}{n-\ell} \binom{n-\ell}{\ell} \frac{[2(\ell+1)]!!}{(2\ell+1)!!} = \binom{n+1}{2\ell+1}$$

we derive (8). The proof of Theorem 1 is complete.

Proof of Theorem 2. The inversion theorem in Lemma 4 can be restated as

$$(-1)^n \frac{s_n}{n!} = \sum_{\ell=0}^{n-1} (-1)^\ell \binom{n-\ell}{\ell} S_{n-\ell} = \sum_{\ell=0}^{\lfloor n/2 \rfloor} (-1)^\ell \binom{n-\ell}{\ell} S_{n-\ell}$$

if and only if

$$nS_n = \sum_{\ell=1}^n \frac{(-1)^{\ell}}{(\ell-1)!} \binom{2n-\ell-1}{n-1} s_{\ell}.$$

The formulas (5) and (6) can be rearranged as

$$\frac{2}{n}(2x)^n T_n(x) = \sum_{\ell=0}^{\lfloor n/2 \rfloor} (-1)^{\ell} \binom{n-\ell}{\ell} \frac{(2x)^{2(n-\ell)}}{n-\ell}$$

and

$$(2x)^{n}U_{n}(x) = \sum_{\ell=0}^{\lfloor n/2 \rfloor} (-1)^{\ell} \binom{n-\ell}{\ell} (2x)^{2(n-\ell)}.$$

Consequently, we obtain

$$n\frac{(2x)^{2n}}{n} = \sum_{k=1}^{n} \frac{(-1)^k}{(k-1)!} {2n-k-1 \choose n-1} (-1)^k 2(k-1)! (2x)^k T_k(x)$$

and

$$n(2x)^{2n} = \sum_{k=1}^{n} \frac{(-1)^k}{(k-1)!} {2n-k-1 \choose n-1} (-1)^k k! (2x)^k U_k(x)$$

which can be simplified as (9) and (10). The proof of Theorem 2 is complete. \Box

4. Variants of Rodrigues formulas for Chebyshev Polynomials

In [2, p. 1003], the Rodrigues formulas for $T_n(x)$ and $U_n(x)$ are written in the forms

$$T_n(x) = (-1)^n \frac{\sqrt{1-x^2}}{(2n-1)!!} \frac{\mathrm{d}^n}{\mathrm{d} x^n} \left[\left(1-x^2\right)^{n-1/2} \right]$$
 (14)

and

$$U_n(x) = \frac{(-1)^n (n+1)}{\sqrt{1-x^2} (2n+1)!!} \frac{\mathrm{d}^n}{\mathrm{d} x^n} \left[\left(1 - x^2 \right)^{n+1/2} \right]. \tag{15}$$

In [2, p. 1004] and [10, pp. 432–433], the Rodrigues formulas for $T_n(x)$ and $U_n(x)$ are formulated as

$$T_n(x) = \frac{(-1)^n \sqrt{\pi}}{2^n \Gamma(n+1/2)} (1-x^2)^{1/2} \frac{\mathrm{d}^n}{\mathrm{d} x^n} \left[(1-x^2)^{n-1/2} \right]$$
 (16)

and

$$U_n(x) = \frac{(-1)^n \sqrt{\pi} (n+1)}{2^{n+1} \Gamma(n+3/2)} (1 - x^2)^{-1/2} \frac{\mathrm{d}^n}{\mathrm{d} x^n} [(1 - x^2)^{n+1/2}], \tag{17}$$

where $\Gamma(z)$ stands for the classical gamma function which can be defined [5, 7] by

$$\Gamma(z) = \lim_{n \to \infty} \frac{n! n^z}{\prod_{k=0}^n (z+k)}, \quad z \in \mathbb{C} \setminus \{0, -1, -2, \dots\}$$

or by

$$\Gamma(z) = \int_0^\infty t^{z-1} e^{-t} dt, \quad \Re(z) > 0.$$

In [4, p. 442], the Rodrigues formulas for $T_n(x)$ and $U_n(x)$ are arranged as

$$T_n(x) = \frac{\left(1 - x^2\right)^{1/2}}{(-2)^n (1/2)_n} \frac{\mathrm{d}^n}{\mathrm{d} \, x^n} \left[\left(1 - x^2\right)^{n-1/2} \right] \tag{18}$$

and

$$U_n(x) = \frac{(n+1)(1-x^2)^{-1/2}}{(-2)^n(3/2)_n} \frac{\mathrm{d}^n}{\mathrm{d} x^n} [(1-x^2)^{n+1/2}], \tag{19}$$

where $(x)_n$ for $n \geq 0$ and $x \in \mathbb{R}$ denotes the rising factorial which can be defined [8] by

$$(x)_n = \begin{cases} x(x+1)\cdots(x+n-1), & n \ge 1\\ 1, & n = 0 \end{cases} = \prod_{\ell=0}^{n-1} (x+\ell) = \frac{\Gamma(x+n)}{\Gamma(x)}.$$

By virtue of the recurrence relation $\Gamma(x+1)=x\Gamma(x),$ we have

$$\Gamma\left(n + \frac{1}{2}\right) = \prod_{\ell=0}^{n-1} \left(n - \ell - \frac{1}{2}\right) \Gamma\left(\frac{1}{2}\right) = \left(\frac{1}{2}\right)_n \sqrt{\pi} = \frac{(2n-1)!!}{2^n} \sqrt{\pi}$$

and

$$\Gamma\left(n + \frac{3}{2}\right) = \prod_{\ell=0}^{n} \left(n - \ell + \frac{1}{2}\right) \Gamma\left(\frac{1}{2}\right) = \left(\frac{3}{2}\right)_{n} \frac{\sqrt{\pi}}{2} = \frac{(2n+1)!!}{2^{n+1}} \sqrt{\pi}.$$

Substituting these into (16) and (17) respectively leads to (14), (15), (18), and (19) which are equivalent to (1) and (2) respectively.

References

- [1] L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition, D. Reidel Publishing Co., 1974.
- [2] I. S. Gradshteyn and I. M. Ryzhik, Table of Integrals, Series, and Products, Translated from the Russian, Translation edited and with a preface by Daniel Zwillinger and Victor Moll, Eighth edition, Revised from the seventh edition, Elsevier/Academic Press, Amsterdam, 2015; Available online at https://doi.org/10.1016/B978-0-12-384933-5.00013-8.
- [3] J. C. Mason and D. C. Handscomb, Chebyshev Polynomials, Chapman & Hall/CRC, Boca Raton, FL, 2003.
- [4] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark (eds.), NIST Handbook of Mathematical Functions, Cambridge University Press, New York, 2010; Available online at http://dlmf.nist.gov/.
- [5] F. Qi, Limit formulas for ratios between derivatives of the gamma and digamma functions at their singularities, Filomat 27 (2013), no. 4, 601-604; Available online at http://dx.doi. org/10.2298/FIL1304601Q.
- [6] F. Qi and B.-N. Guo, Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials, Mediterr. J. Math. 14 (2017), no. 3, Article 140, 14 pages; Available online at https://doi.org/10.1007/s00009-017-0939-1.
- [7] F. Qi and W.-H. Li, Integral representations and properties of some functions involving the logarithmic function, Filomat 30 (2016), no. 7, 1659–1674; Available online at https: //doi.org/10.2298/FIL1607659Q.
- [8] F. Qi, X.-T. Shi, and F.-F. Liu, Several identities involving the falling and rising factorials and the Cauchy, Lah, and Stirling numbers, Acta Univ. Sapientiae Math. 8 (2016), no. 2, 282-297; Available online at https://doi.org/10.1515/ausm-2016-0019.
- [9] F. Qi, Q. Zou, and B.-N. Guo, Some identities and a matrix inverse related to the Chebyshev polynomials of the second kind and the Catalan numbers, Preprints 2017, 2017030209, 25 pages; Available online at https://doi.org/10.20944/preprints201703.0209.v2.
- [10] D. Zwillinger, CRC Standard Mathematical Tables and Formulae, Thirty-first edition, CRC Press, Boca Raton, FL, 2003.
- (Qi) Institute of Mathematics, Henan Polytechnic University, Jiaozuo, Henan, 454010, China; College of Mathematics, Inner Mongolia University for Nationalities, Tongliao, Inner Mongolia, 028043, China; Department of Mathematics, College of Science, Tian-Jin Polytechnic University, Tianjin, 300387, China

 $Email\ address$: qifeng6180gmail.com, qifeng6180hotmail.com

URL: https://qifeng618.wordpress.com

(Niu) Department of Mathematics, East China Normal University, Shanghai, 200241, China

 $Email\ address: {\tt nnddww@gmail.com}$

(Lim) Department of Mathematics, Sungkyunkwan University, Suwon, 16419, South Korea

 $Email\ address: \texttt{dgrim84@gmail.com}$